
































71. For depletion type MOSFET:I
D 

=4.5 mA at
V Gs= -2V. What is the value ofI

D
ss if V

P
= -5 V?

(a) 5.5 mA (b) 12.5 mA
(c) 5.0 mA

Ans: (b) 
(d) 15 mA

72. Which one of the following consists of a layer of
metal at the tip named gate, a silicon dioxide layer
below it, and a semiconductor substrate as the
bottom -most layer?
(a) JFET
(c) MOSFET

Ans: (c & d) 

(b) BJT
(d) DMOSFET

73. In a common base configuration, the alpha of the
transistor is 0.99, it callector current is 1 mA and
the collector to base current with emitter open is 1
µA. The value of base current is
(a) 29 µA (b) 19 µA
(c) 9 µA (d) 39 µA

Ans: (c) 

74. The MOSFET is in the cut-off state, when the gate
source voltage is
(a) less than gate to source voltage
(b) greater than gate to source voltage
( c) less than the threshold voltage
(d) greater than the threshold voltage

Ans: (c) 

7 5. For an ideal supply, the output voltage is independent 
of the load and the percentage regulation is 
(a) equal to zero
(b) equal to unity
( c) greater than unity
(d) less than unity but not zero.

Ans: (a) 
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76. Which one of the following filters is used for

reduction of power line harmonics, suppression
of clutter from fixed objects in moving target
indication radar?
(a) NOTCH filter
(b) IIR filter
( c) FIR filter
( d) COMB filter

Ans: (d) 

77. For Z = 2ei7114 and Z = 8ei7113 the value of� is
I 2 , 2 

.5,r 1 .6;-r (a) e-JIT (b) 8e-JTf

1 . 57r 
(c)32e-JIT 

Ans: (c) 

78. The simplified value off x2 cos ax dx is

(a) -½-(2ax cos ax - 2 sin ax +a2 x2 sin ax)a 

(b) -½-(2ax cos ax - 2 sin ax +a2 x sin ax)a 

(c) ½c2ax cos ax- 2 sin ax +ax sin ax)

(d) ½(2ax cos ax - 2 sin ax +a2 x2 sin ax)
Ans: (a) 

Z2 

79. What is the total average power in the unit­
amplitude square wave of period, T, and 50%
duty cycle?
(a) 1.5
(c) 0.5 

Ans: (c)

(b) 0.25
(d) 1

80. For a system with unit impulse response
h[k] = (0.5)k u[k], what is the zero state
response y[k] for the input f[k] = (0.8)k u[k]
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94. Lead frequency compensation is a technique

used to increase

(a) the phase margin

( c) the bandwidth

(b) the gain

( d) the slew rate

Ans: (a) 

95. Which one of the following is not correct for

the AAA instruction in 8086 microprocessors?

(a) It works only on the AL register

(b) It updates AF and CF

( c) It checks the result for correct unpacked

BCD.

( d) It updates all the flags.

Ans: (d) 

96. Which one of the following filters is used to

recover original signal from its sample?

(a) Low pass filter (b) High pass filter

(c) Band pass filter (d) Band reject filter

Ans: (a) 

97. In the first order low pass filter, which one of

the following statments is not correct?

(a) It has the maximum gain at frequency of 0

Hz

(b) At higher cutoff frequency, the gain falls to

0.707 times the maximum gain.

( c) For frequency greater than higher cutoff

frequency, the gain decreases at a constant

rate of - 20 dB/decade.

( d) It has the maximum gain in stop band.

Ans: (d) 

98. The quantization error is equivalent to

(a) internal noise generated within system

(b) impulse noise

( c) inter modulation noise as it produces

harmonics

( d) additive white noise as it alters the signal

amplitude

Ans: (a) 
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99. A frequency division multiplexing system

is used to multiplex 24 independent voice

signals. Single sideband modulation is used for

the transmission. Each voice signal is allotted

a bandwidth of 4 kHz. What is the overall

transmission bandwidth of the cahnnel?

(a) 4 kHz (b) 6 kHz

(c) 24 kHz (d) 96 kHz

Ans: (d) 

100. A Time Division Multiplexing system is used

to multiplex four independent voice signals

using pulse amplitude modulation. Each voice

signal is sampled at the rate of 8 kHz. The

system incorporates a sysnchronizing pulse

train for its proper operation. what is the timing

between the synchronizing pulse trains and the

impulse trains used to sample the four voice

signals?

(a) 5 µs

(c) 15 µs

Ans: (d) 

(b) 10 µs

(d) 25 µs

101. Which one of the following statments is correct

for full amplitude modulation?

(a) The spectrum consists of two sidebands

( one termed the upper sideband and the

other termed the lower sideband).

(b) The spectrum consists of one sideband

(termed the upper sideband).

( c) The spectrum consists of one sideband

(termed the lower sideband)

( d) The spectrum consists of three sidebands

( one termed the upper sideband, the second

termed the lower sideband, and the third

termed the lowest sideband).

Ans: (a) 
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I 09. If the flux linkage-current characteri si tic Is 

linear, then 

(a) the field energy is greater than the coenergy

(b) the field energy is less than the coenergy

( c) the field energy is equal to the coenergy

( d) the field energy and the coenergy do not

have any dependence on flux linkage­

current characteristic.

Ans: (c) 

110. An 8-pole generator has an output of 200 A at

500 V, the lap-connected armature has 1280

conductors, 160 commutator segments. If the

brushes are advanced 4-segments from the no­

load neutral axis, what is the cross-magnetising

ampere-turns per pole?

(a) 1600

(c) 1550

Ans: (d) 

(b) 1400

(d) 1200

111. A 400 V, I OOOA, lap-wound DC machine has

IO poles and 860 armature conductors. What

is the number of conductors in the pole face to

give full compensation if the pole face covers

70% of the pole span?

(a) 1000

(c) 2050

Ans: (*) 

(b) 4000

(d) 3010

112. The main function of electric power system is

to

(a) transmit energy with maximum efficiency

(b) generate energy with minimum efficiency

( c) store energy with maximum efficiency

( d) convert energy with minimum effieciency

Ans: (a) 
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113. Which of the following are the sources of heat

generation within the cables?

1. PR losses in theconductor

2. Dielectric losses in the cable insulation

3. Losses in the metallic sheath and armourings.

Select the correct anser using the code given

below:

(a) I and 2 only

(b) 1,2 and 3

(c) 2 and 3 only

(d) land 3 only

Ans: (b) 

114. The radical distribution IS simple and

economical, but the reliability of the system is

poor and leads to

(a) evacuating of energy supply if there is fault

in the line

(b) transmission of energy supply if there is

fault in the line

( c) distribution of energy supply if there IS

fault in the line

( d) interruption of energy supply if there IS

fault in the line

Ans: (a) 

115. Which one of the following statments is correct

regarding fault analysis?

(a) Balanced three-phase voltages contain

zero-sequence components.

(b) Balanced three-phase voltages do not

contain negative sequence components.

( c) Balanced three-phase voltages contain

only negative sequence components

( d) Balanced three-phase voltages contain

positive and negative sequence components

Ans: (b) 
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(a) 750 rpm
(c) 780 rpm

Ans: (a) 

(b) 650 rpm
(d) 950 rpm

136. Which one of the following power plants is the
least reliable?

(a) Tidal

(c) Wind

Ans: (b) 

(b) Solar

( d) Geothermal

137. When a synchronous motor runs at no load

with adjustable excitation over a wide range,
power factor can be improved by varying the

excitation of its

(a) field winding
(b) armature winding

( c) commutator winding

( d) compound winding

Ans: (a) 

138. What is the maximum number of points of

light, fans and 5 A socket outlets that can be

connected in one circuit as per recommendation

of Indian Standards?
(a) 8

(c) 12

Ans: (b) 

(b) 10

(d) 9

139. A DC suply of 100 V feeds an inductnace of

10 H through a thyristor. What is the minimum

width of the gate pulse so that the thyrisotor is
triggered, if the latching current of thyristor is

80 mA?

(a) More than 8 ms
(c) Exact 6 ms

Ans: (a) 

(b) Less than 8 ms
( d) Less than 6 ms

140. Consider the following statements with regards
to IGBTs:

19 1am;;m1a,m1,mg;� 
1. At highest temperature, maximum current

rating goes down to 2/3 value

2. IGBT 1s the preferred device for

applications that require high blocking
voltages and lower operating frequencies.

3. Tum-on transients are identical to

MOSFETs
Which of the above statements are correct? 
(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d) 1,2 and 3

Ans: (c) 

141. What is the supply frequency for the case
hardening of shaft having specific resistivity

of 5x10-5 Q-cm and the relative permeabiltiy

equal to 1 for depth of heating 2.5 mm?
(a) 20.24 kHz (b) 26.24 kHz

(c) 15.62 kHz (d) 32.15 kHz

Ans: (a) 

142. If�= lkQ, V
E

= 2V and Iv= 5 mA, what is

the value of V
EE 

which will cause the UJT to
tum 'off'?

(a) 2 V

(c) 9 V

Ans: (*) 

(b) 5 V

(d) 7 V

143. In a 110 V DC chopper drive using the CLC

scheme, the maximum possible value of the
accelerating current is 300 A The lower limit

of the current pulsation is 140 A What is the

maximum limit of current pulsation?
(a) 140A (b) 440 A
(c) 160 A (d) 150 A

Ans: (c) 

144. A three-phase squirrel-cage induction motor 
is developing torque of 1500 sync.watts at 50 
Hz and 1400 rpm (synchronous speed is 1500 
rpm). If the motor frequency is now increased
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